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QUESTION 1

Which replication operations are supported by Solution Enabler SYMCLI, but NOT by Symmetrix management
console?

A. SRDF/ Star

B. Open replicator

C. SRDF/A and SRDF/S

D. TimeFinder/Clone and TimeFinder/Snap

Correct Answer: A

QUESTION 2

Which replication product can be used to create point-in-Time copies of thin devices to other thin devices?
A. SRDF/DM

B. TimeFinder/Clone

C. SRDF/AR

D. TimeFinder/Mirror

Correct Answer: B

QUESTION 3

What is required when the symdev list command shows the TEMEVs (?!) are in a Not Ready state?
A. Must be part of the default pool

B. Must be mapped to a front-end port

C. Must create an extent that is 12 tracks

D. Must be bound to a thin pool

Correct Answer: D

QUESTION 4

If a customer wants to restrict certain thin pools from reaching their capacity limit, which option would the customer
use?

A. Set oversubscription
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B. Set data device
C. Set thin device

D. Set utilization threshold

Correct Answer: A

QUESTION 5
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After acquiring a company 300 hundred miles from their current office the customer has asked EMC to

help to design a single hop application recovery plan after careful analysis of the work load and available

bandwidth, SRDF/AR was selected as the solution.

If the SRDF/AR cycle time is set to 90 minutes, what is the maximum potential data loss?

A. 2 hours of data
B. 1.5 hours of data
C. 4.5 hours of data
D. 3 hours of data

Correct Answer: A
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